
 1

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com

 
 
 
 

 

WHIRLPOOL  GLW9959KL1 TOP AND LID, LITERATURE

 
 
 

mailto:ventas@denek.com


 2

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com

 
 
 
 

1 LIT3955183 Literature Parts (Video - Use & Care) 
1 LIT3955546 Literature Parts (Energy Guide) 
1 LIT8530145 Literature Parts (Wiring Diagram) 
1 LIT8530143 Literature Parts (Tech Sheet) 
1 LIT3953969 Literature Parts (Use & Care Guide) 
2 8318131 Top (Biscuit) 
2 8318132 Top (Pewter) 
2 8318130 Top (White) 
3 8300010 Bushing, Harness 
4 8055146 Filter, Line 
5 1166054 Screw, 8-18 x 5/8 
6 3351614 Screw, Ground 
7 9724754 Valve, Water Inlet 
8 3400611 Screw & Washer, Lid Switch (2) 
9 384463 Lid Spring (Includes Item 10) 

10 54690 Plug, Button (2) 
11 8272124 Switch, Lid 
12 8055191 Splash Shield Assembly 
13 355274 Screw, Lid Hinge Mounting (4) 
14 8282566 Clip, Drape 
15 8055257 Hinge, Lid (L.H.) 
16 8055256 Hinge, Lid (R.H.) 
17 8319539 Bearing, Lid Hinge (2) 
18 19119 Bumper, Lid Hinge 
19 8318136 Lid Assembly (Includes Items 13, 15, 21, 23, 50, 52 & 53) (White) 
19 8318137 Lid Assembly (Includes Items 13, 15, 21, 23, 50, 52 & 53) (Biscuit) 
19 8318138 Lid Assembly (Includes Items 13, 15, 21, 23, 50, 52 & 53) (Pewter) 
20 697776 Screw, 10-32 x 5/8 (Grounding) 
21 8054939 Seal, Lid 
21 8283532 Seal, Lid (Black) 
22 371505 Clamp, Hose 
23 8316688 Lid, Inner 
24 8299698 Clip, Two Stage 
25 370451 Clamp, Hose 
26 8318451 Clamp, Hose 
27 8055022 Dispenser, Bleach & Fabric Softener 
28 8054366 Hose, Diverter to Venturi 
29 8272009 Cover, Dispenser 
30 8055010 Dispenser, Detergent 
31 8055168 Venturi 
32 8300021 Nozzle Assembly (Bleach) 
33 9724997 Clamp, Hose 
34 8054367 Hose, Detergent 
35 8055019 Clamp, Hose 
36 8055014 Hose, Venturi to Bleach 
37 8054365 Hose, Fabric Softener 
38 9724996 Clamp, Hose 

WHIRLPOOL  GLW9959KL1 TOP AND LID, LITERATURE

mailto:ventas@denek.com


39 8271943 Restraint 
40 8316761 Hose, Fresh Rinse 
41 8316762 Hose, Tub to Venturi 
42 301958 Clamp, Hose 
43 370450 Clamp, Hose 
44 8312789 Shield, Splash 
45 8318189 Shield, Probe 
46 8519201 Shield, Ground Screw 
47 8280537 Rivet, Shield 
48 8528159 Shield, Tertiary 
49 8527686 Medallion Assembly (Sage) 
49 8527687 Medallion Assembly (Pewter) 
50 21097 Pad, Lid Hinge (2) 
51 8316751 Medallion Insert 
52 8520850 Handle, Lid (Sage) 
52 8520851 Handle, Lid (Pewter) 
53 8519764 Insert, Handle 
54 3955659 Palnut 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 3



 

 4

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com
 
 
 
 

 

WHIRLPOOL  GLW9959KL1 CABINET & FRAME

 
 

mailto:ventas@denek.com


 5

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com

 
 
 
 

1 8522247 Cabinet (Pewter) 
1 8054490 Cabinet (White) 
1 3954709 Cabinet (Biscuit) 
2 8318240 Panel, Front (White) 
2 8522246 Panel, Front (Pewter) 
2 8318242 Panel, Front (Biscuit) 
3 8526005 Bracket, Top Lock 
4 8283274 Brace, Cabinet (Front) 
5 8283273 Damper, Brace 
6 8519823 Hinge, Top to Panel 
7 8317308 Pad, Front Panel 
8 3400085 Screw, 10-32 x 1/2 
9 8518891 Rivet (2) 

10 8518896 Panel, Back 
11 357640 Screw & Washer (Tub Mounting) 
12 8283364 Pan, Bottom 
13 8054500 Frame, Cabinet 
14 8300022 Switch, Motor (2) 
15 8283353 Spacer, Cabinet 
16 8283335 Clip, Front Panel 
17 8299814 Harness, Lower (Includes Item 30) 
18 9724100 Hose, Drain 
19 8281159 Screw 
20 8271831 Spacer 
21 8318449 Lock, Top (Front) 
22 9724106 Retainer, Drain Hose (Storage) 
23 8310666 Power Cord Assembly 
24 8283348 Cover, Harness 
25 8054328 Strain Relief 
26 693995 Screw, Hex Head 
27 3976300 Washer, Water Inlet Hose (1-1/16 x 5/8) 
28 3949368 Hose, Water Inlet ((Blue Coupler)) 
28 3949369 Hose, Water Inlet ((Red Coupler)) 
29 8528318 U-Bend, Drain Hose 
30 8310651 Clip, Harness (3) 
31 8528279 Gusset, Harness 
32 692400 Nut, Push-In 
33 9724675 Clip, Drain Hose 
34 3400891 Screw, 8-18 x 1/2 
35 3347868 Cable Tie 
36 8318208 Retainer, Drain Hose 
37 8281212 Screw, 8-18 x 3/8 
38 3400811 Screw, 8-18 x 1.187 
39 660628 Clamp, Hose 

WHIRLPOOL  GLW9959KL1 CABINET & FRAME

 
 
 
 
 

mailto:ventas@denek.com


 6

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com

 
 
 
 

 

WHIRLPOOL  GLW9959KL1 WASHPLATE, BASKET AND TUB

 
 
 

mailto:ventas@denek.com


 7

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L
                   

                          tas@denek.com

. 
 Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11                                                                                                                                

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
        NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ven

 
 
 
 

1 8315883 
2 

Dome, Washplate 
Washplate (Outer) 8522194 

3 8282519 Bolt 
4 8299753 Washplate (Inner) 

Leveler 5 8519518 
6 8520855 Nut, Lock 

Seal, Inner7 8519203  Washplate 
Tub Ring Assembly 8 8317383 

9 8054355 Seal, Tub Ring 
10 8529754 BASKET 
11 9724323 Balance Ring 

U-Joint 12 8272000 
13 8529943 Tub 
14 8312686 Washer 

Gasket C15 8055288 enterpost 
Tube, Overflow 16 8283307 

17 8283308 Plug, Overflow 
18 8055135 Bag, Overflow 
19 9724609 Clip, Tub Retainer (4) 

Screw 20 8281145 
21 8055279 Absorber, Sound (Tub) 

Seal, O-Ring (2.5 x 85 m22 8312689 m) 
Tube, Water Recirculation 23 8054989 

24 8055280 Strap, Absorber (Lower) 
25 8055272 Clip, Absorber 
26 8055273 Strap, Absorber (Upper) 

Retainer, Push-In 27 3351189 
28 8318231 Shield, Splash (Tub Ring) 

WHIRLPOOL  GLW9959KL1 WASHPLATE, BASKET AND TUB

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 8

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L
                   

                          tas@denek.com

. 
 Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11                                                                                                                                

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
        NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ven

 
 
 
 

 
 
 
 

WHIRLPOOL  GLW9959KL1 CONTROL PANEL



 9

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 
 

1 3428971 Screw, 10-24 x 3/8 

, Control 
lectronic) 

 
em 13) (Pewter) 

``) 

 

sole) 

 
 

3 304231 Screw 
4 8299690 Bracket
5 661646 Control, Motor (E
6 8054454 Hose, Pressure Switch (2) 
7 8299685 Cap, End (L.H.) (Includes It
7 8299683 Cap, End (L.H.) (Includes Item 13) (White) 
7 8299684 Cap, End (L.H.) (Includes Item 13) (Biscuit) 
8 8054766 Switch, Pressure (Operating - Marked ``OPR
9 8299673 Panel, Console (Pewter) 
9 8299672 Panel, Console (Pearl) 

s Item 13) (Biscuit) 10 8299687 Cap, End (R.H.) (Include
10 8299686 Cap, End (R.H.) (Includes Item 13) (White) 
10 8299688 Cap, End (R.H.) (Includes Item 13) (Pewter)
11 661640 

 
Control, Machine (Electronic) 

12 1166054 Screw, 8-18 x 5/8 
14 8529923 Harness, Wiring 
15 8299987 Panel, Rear (Con
16 693995 

 
Screw, Hex Head 

e 18 8055297 Clip, Pressure Hos

WHIRLPOOL  GLW9959KL1 CONTROL PANEL

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 10

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 
 

 

WHIRLPOOL  GLW9959KL1 BRAKE, MOTOR AND PUMP

 
 
 



 11

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 
 

1 8271972 Brake & Drive Tube (Complete) (Refer to Page 13 For Further Breakdown) 

Shift) 

 Lower Drive 

r 
ower) 

er) 

) 

1/4 x 3/4 
tor (3) 

. 19) 

 
ector 

ub to Pump (Inner) 

 p (Outer) 
plete) 

2 8055094 Shaft, Washplate 
3 8055224 Spring Assembly (
4 8282498 Pulley, Drive 
5 8055091 Bearing Plate,
6 8054942 Support, Tub 
8 8283349 Plate, Motor 

o9 8054912 Socket, Isolat
10 8054996 Isolator, Motor (L
11 9724551 Motor, Main Drive 
12 8054913 Isolator, Motor (Upp
13 9724037 Belt, Drive 
14 8272127 Stud, Ball (2
15 3400214 Screw 
16 8055225 Screw, 
17 8283536 Isolator, Pump Mo
18 8054968 Motor, Pump (Includes No
19 9724548 Capacitor, Pump Motor 
20 3400206 Screw 

mplete) 21 8527633 Pump (Co
22 8054967 Retainer, Pump (2)
23 9725000 Bracket, Motor Conn
24 3390631 Screw, 10-16 x 3/8 (4) 
25 3400215 Screw 
26 8054944 Hose, T
27 371504 Clamp, Hose (4) 
28 8054988 Hose, Tub to Pum
29 8055089 Pulley Assembly- Drive (Com

WHIRLPOOL  GLW9959KL1 BRAKE, MOTOR AND PUMP

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 12

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 
 

 

WHIRLPOOL  GLW9959KL1 SUSPENSION 

 
 
 



 13

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 

WHIRLPOOL  GLW9959KL1 SUSPENSION 

 

1 9723241 Damper Asm (4) 
Upper) 

2) 

 
 

2 8055179 Ball, Suspension (
3 8054964 Socket, Suspension 

n 4 9723335 Stabilizer, Suspensio
5 8312710 Stud, Ball (2) 
6 8271819 Link, Leveling 
7 8054532 Clip, Leveling (
8 8054747 Foot, Rear (2) 
9 8281198 Foot, Front (2) 

10 3359452 Nut, 3/8-16 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 14

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                    Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

             
      om

                                                                                                                               
                                                                                                             Tel. 01 800 872 16 10 y 79 99     

                            NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.c

 
 
 
 

WHIRLPOOL  GLW9959KL1 BRAKE & DRIVE TUBE

 
 
 
 



 15

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com  

 
 
 

2 9724189 Ring, Thrust 
3 83
4 64035 Ring, Retaining 
5 8271887 Shoe, Brake 

ing (2) 
e 

4 
elease 

t (Upper) 
 
 
 
 
 
 

WHIRLPOOL  GLW9959KL1 

 

18243 Tube, Spin 

6 8055260 Cap, Brake Spr
7 8271969 Spring, Brak
8 805531 Sleeve, Cam 
9 8055263 Cam, Brake R

10 8054992 Driver, Brake Cam 
11 8282568 Bearing, Thrus

BRAKE & DRIVE TUBE

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 16

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com  

 
 
 

WHIRLPOOL  GLW9959KL1 M

 

 
 
 
 

1 8529946 Miscellaneous Parts Bag 
2 3976300 Washer, Water Inlet Hose (1-1/16 x 5/8) 
4 3359452 Nut, 3/8-16 
5 8281198 Foot, Front (2) 

e (Uncut)) 
(Primer, Gray) 

SSURIZED SPRAY (12 oz.) (Biscuit) 
(.20 Fl. Oz.) (6 ml) 

 RIZED SPRAY (12 oz.) (Pewter) 
Roller & Pin) 

 -UP (1/2oz.) (Biscuit) 

 
 
 

ISCELLANEOUS, OPTIONAL

5 799344 PAINT, BULK (1 qt.) (Whit
5 350938 PAINT, PRESSURIZED SPRAY (12 oz.) 
5 4392901 PAINT, PRE
5 285195 Sealer, Gasket 
5 384496 Coupling, Hose 
5 350930 PAINT, PRESSURIZED SPRAY (12 oz.) (White) 
5 4392900 PAINT, BULK (1 qt.) (Biscuit (Uncut)) 
5 285834 Siphon Break 
5 4396175 PAINT, PRESSU
5 285208 Lubricant (Use Only In Brake Shoe Assembly On 
5 4396174 PAINT, TOUCH-UP (1/2oz.) (Pewter) 
5 4392899 PAINT, TOUCH
5 285835 Hose Connector 
5 72017 PAINT, TOUCH-UP (1/2oz.) (White) 


	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11
	Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11

